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Molarity/Dilutions Worksheet s

1. Molarity Problems - Find the missing value.

Chemical Mass Volume Molarity
a) NazS0. 16.0¢g 50.0 mL

'QDQM O \.@
50.0mk 1Ty < U285 1,04 ’L"? 'QSM”W’%\

b) HCI 14328 g 425M
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¢) Pb(NO3)- 150.0 mL 3.00 M
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2. Dilution Problems

(a) 110.0 mL of 3.00 M sulfuric acid has 25.0 mL of water added to it. What is the resultlng‘

of the solution? (2.44 M H2S04) _—
C\=32 03M C\Vy =CpV,
Vy = (10.0mL (2 oom) (o 0mL)= () (13500
Cp=7 (3.00M)(110.0mL)
C;L‘-’
Vz= HO.OML + 725 oml (|3S.DML\
=isz.uw [
(b) must be added to 50.0 mL sample of 18.0 M nitric acid to give a resulting
concentration of 0.250 M? (3550 mL H;0)
C,\ = [R.0oM CiV)\= CV2
V=650 0ml (18.0M) (S0 0mL) = (6 250m) (Vz)

V, = (188M)(50.0mL)

C,=0.1250M
2= 0 (o asem)

Vo, =7
* | =300~ L
WeXer Ao added : 3600nL ~50.0mL =355om L



(c) Barium nitrate is purchased as a 17.0 M concentration. Explain how you would prepare 500.0 mL of a
5.00 M solution. (147 mL H;0)

C,=170M C\Vy = CeV2
V< 7 (17.0m) (v,) = (S.00m) (Sov pmL)
Cy = 5.00M V= (S oom)(Sbo.omL) ST Meare Mt
\/, =500.0mL (7.om) $kp2 A 3530 L
= ater AN Mmake
)L|7ML o ;OO.C;ML
Solukon

—_—

(d) 1f 25.0 mL of 4.0 M HNO3 solution is diluted to a volume of 600.0 mL, what will be fthe
diluted solution? (0.17 M HNO3)

C, = 25.0ml C\WV,=C V1
Vv, = 4.0M (25vmL) (Hom) = (c;) (Lo opmL)
CZ_= 7 C, = (ZS—.O/-\L><L|.DN\)

" (koo vy

Vy = 600 . Dm L =M

(e) Whatinitial volumewf 18 M hydrochloric acid is required to make 2.0 L of 0.50 M hydrochloric acid
solution? (56 mL H>0)

GV, =CeVe
C\ = I8M
v‘__ 7 1) vy = (0. 5om™) (2.0(_>
C\ 55 V= (0.Sum) (2.0L)
Vi= Q:b L Cgm)

{o.osgL . geMl_i

(f) 250.0 mL of 0.20 M phosphoric acid is added to 1.00 L of water. What is th@)f the resulting

solution? (0.040 M H3P04) CE‘\/\ - Cz\/z
C,= O 20M
| 5 | 0, = (0.20M)(250.3m0)
Ca= k(\ZS’brﬂL)
|00b m L =\6.0LLBM (
= 1260mL
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